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CEVAPLAR 
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(ab)nb2n+1 
(ab)nb2n+2 
(ab)nbn+2 

 

2.  

S    SS | AR1 | BR2 | AB | BA | b 

  R1  SB 

  R2  SA 

  A   a 

 B   b  

a A S R2 S 

b S,B S,R2 S,R1  

a A S   

b S,B    

 

  S         S 

________________|_______________     ________________|_______________ 

A    R1     S    S 

|   ________|________   ________|________  ________|________ 

a   S  B   A  B  A  B 

  ________|________ |   |  |  |  | 

  B  A b   a  b  a  b 

  |  | 

  b  a 

 



 

3.  

0 S’  S $ 

 1 S  ( E ) 

  2 S  num 

  3 E  S 

  4 E  E + S 

  5 E  E - S 

  

 

Durumlar 

1 2 1S 3 1( 4 1num 5 3E 6 3S 7 5) 8 5+ 9 5- 10 8S 11 9S 

S’.S$ S’S.$ S(.E) Snum. S(E.) ES. S(E). EE+.S EE-.S EE+S. EE-S. 

S.(E)  E.S  EE.+S   S.(E) S.(E)   

S.num  E.E+S  EE.-S   S.num S.num   

  E.E-S         

  S.(E)         

  S.num         

    

 

Durum Diyagramı (Tablo şeklinde) 

 ( ) + - num S E 

1 3    4 2  

2 accept 

3 3    4 6 5 

4 reduce 2 

5  7 8 9    

6 reduce 3 

7 reduce 1 

8 3    4 10  

9 3    4 11  

10 reduce 4 

11 reduce 5 

Parsing Tablosu 

 ( ) + - num $ S E 

1 s3    s4  s2  

2      a   

3 s3    s4  s6 s5 

4 r2 

5  s7 s8 s9     

6 r3 

7 r1 

8 s3    s4  s10  

9 s3    s4  s11  

10 r4 

11 r5 

 

 
 

( 1 + ( 2 - 3 ) ) $ 
 

 

        4  11         

        9  9  7       

    4  6  5  5  5       

    3  3  3  3  3  10     

    8  8  8  8  8  8  7   

4  6  5  5  5  5  5  5  5   

3  3  3  3  3  3  3  3  3  2(a) 

1  1  1  1  1  1  1  1  1  1 
( 1    + ( 2    - 3    )    )  $ 

 


